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Answer in Bodo

^ : 1x10=10

(^) ttt tti?

(^) TT^ 7TKT felK

(^) ihifRR TTRT
f^?

{^) 04Pi

(^) -^' ^ iTPRR ^skRranT
«l^«} •?! I

(^) ^rraikT Rktt?
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1. RTBT^



( 2 )

'(^) XT^ TTitwnn tot ito 1^1

(^) xft^toirto (word order) Mi«iilq?

(^) w.' TRR 'arrwrft' xft^ ^

(^) 3toi^, smrflq^ ^ to%FFT

2. toR ^snt to : 2x5=10

(^) ^

(^) ^ toto ^ tot tot
to toto

(n) tor-tor, irw-"?!^ tto ItoPHt ^ antor
•RT 7§rPrt ididiH tot?

(^) ^T?n (idioms) tor "into srtot?

{^) tot tort xr^ tot ^tot
ito tot^ 1^1

3. wto ^SfT^-^siFn Ml-itP to : 5x4=20

(•4)) ^strt (juncture) ^?

(^) to xito ^;pnto gutotxi trt ^ toi

(n) 3ixT^ ^ tot4 3TO4 ton totnr "m?

(^) ni^i nnt (phrase) K^?

(^) to xrtto toWw TtoT-3TTxtt xfttoi

(^) ^ Xl^ft "fcTtl
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I

4. •fem Tn? W.' TRf^ TT^ 3TRt

TTT^ 1^ ^TWmt XRt feRl 3+2+5=10

'^' <|c(R TRT ^T^FTt TFFTI^
"^1 10

5. hmR-^i gn^ hnR-^i 9iU<^\ ^\ 10

3TT%T ^IdWHt^ <dl[^^hl<n 1^1

6. •^' ^RTT 3TKt ^ ^
TT?T^ ^T?n ^THFi-sn^ I 10

TOT TOT^ TITpr ^[if^ TOT

TOTf^ TFT^ 3TTd ^TT# TOtTO
^4>NI«IM f^l

7. ^T%?n TTT? Ijt 3TT1|TOT^ ^ ^
^ 1^1 10

<hR yl(^l«j ^T%^TO RhHicI TTTOtd^
TOTf^ TOT4 Mto i^I

★ ★ ★
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